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#include<reg51.h>

#Hdefine uchar unsigned char

#define uint unsigned int

uchar code LCD_Display_Common_i[16]={"Welcome To Use! "};
uchar code LCD_Display_Common_j[16]={"Design By MrTom"};
uchar code LCD_Display_Full_i[16]= {"  All Full! il

uchar code LCD_Display_Full_j[16]= {" Plese Wait! "}
uchar code LCD_Display_GetPassw_i[16]= {"Your Password: "};

uchar code LCD_Display_Box1Password_i[16]=
uchar code LCD_Display_Box2Password_i[16]=
uchar code LCD_Display_Box3Password_i[16]=
uchar code LCD_Display_Box4Password_i[16]=

{"Box1 Password:
{"Box2 Password:
{"Box3 Password:
{"Box4 Password:

"%
"%
%
g

uchar LCD_Display_i[16];
uchar LCD_Display_j[16];

shit a=P270; JIEX 3x4 @O, Ki% ab,cd, M xy.z
shit b=P271; I/
shit c=P2A2; !/
sbit d=P2A3; //
sbhit x=P274; I/
sbit y=P24/5; !/
shit z=P2/6; I/

sbit Box1=P30; //define Box(x) Port & X FfF 24 A5 O
shit Box2=P3"1;
sbit Box3=P3/2;
shit Box4=P3"3;

sbit Key_Box1=P1"4; /17 SR W B H o 1

sbit Key_Box2=P175; //
sbit Key_Box3=P176; //
sbit Key_Box4=P1/7; /!

sbit Cus_In=P327; [T AEL +
sbit Cus_Out=P376; //HiHiiT NS -



shit Bee=P374; /3N 2% Ay HH g
shit Shock=P3A5; /R B N O

sbit LCD_E=P1”0; //define 1602 E

sbit LCD_RW=P171;//define 1602 RW
sbit LCD_RS=P1"2; //define 1602 RS

uchar temp_a,temp_b,temp_c,temp_d,temp_e,temp_f; //HI N EEEFAE L

uchar Num,Interface,Customer; [ E L& FrtnElr

uchar Passw_Box1_a,Passw_Box1_b,Passw_Box1_c,Passw_Box1_d,Passw_Box1_e,Passw_Box1_f;

/1B R T R BB AT AL
uchar Passw_Box2_a,Passw_Box2_b,Passw_Box2_c,Passw_Box2_d,Passw_Box2_e,Passw_Box2_f;
1
uchar Passw_Box3_a,Passw_Box3_b,Passw_Box3_c,Passw_Box3_d,Passw_Box3_e,Passw_Box3_f;
7
uchar Passw_Box4_a,Passw_Box4_b,Passw_Box4_c,Passw_Box4_d,Passw_Box4 _e,Passw_Box4_f;
1
uchar Show_P_a,Show_P_b,Show_P_c,Show_P_d,Show_P_e,Show_P_f;
i = I
I SE I 7 PR AL
I */
void delay(uint t)
{
while(t--);
}
% I
! S IR AR WA T
e — */
void Timer0_Init()
{
TMOD=0x01; //77 ik
THO=(65535-100)/256; /!
TLO=(65535-100)%256;  //HMHA & &
ETO=1;//7T E W 2% TO (K1 iy
EA =1;//TT S T
TRO=1;//}5 )] TO
}
" ™ I
| LCD FRR %L |
I */
void Write_Bit_Com(uchar com) JEEEEs R B L ttkktkrxy ff

{



LCD_E=0;
LCD_RW=0;
LCD_RS=0;

PO=com;

delay(10);
LCD_E=1,;
delay(10);
LCD_E=0;

}

void Write_Bit_Date(uchar date)

{

LCD_E=0;
LCD_RW=0;
LCD_RS=1;
PO=date;
delay(10);
LCD_E=1;
delay(10);
LCD_E=0;

}

void Init_LCD()

{

LCD_E=0;
Write_Bit_Com(0x38);
Write_Bit_Com(0x0c);

1 0x0d)
Write_Bit_Com(0x06);
Write_Bit_Com(0x01);

}

void Display_Common()

{

uchar i,j;
Write_Bit_Com(0x80+0x00);
for(i=0;i<16;i++)

{
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Write_Bit_Date(LCD_Display_Common_i[i]);

delay(100);
}

LCD_Display_j[0]=0x30+Customer/10;
LCD_Display_j[1]=0x30+Customer%10;

LCD_Display_j[2]="";
LCD_Display_j[3]="";
LCD_Display_j[4]="";
LCD_Display_j[5]="";



LCD_Display_j[6]="";
LCD_Display_j[7]="";
LCD_Display_j[8]="";
LCD_Display_j[9]="";
LCD_Display_j[10]="";
LCD_Display_j[11]="";
LCD_Display_j[12]="'";
LCD_Display_j[13]="";
LCD_Display_j[14])="";
LCD_Display_j[15]="";
Write_Bit_Com(0x80+0x40);
for(j=0;j<16;j++)

{
Write_Bit_Date(LCD_Display_j[jl);
delay(100);
}
}
void Display_Input_Box1() //box 1 password input T — % %4 A
{
uchar i,j;

Write_Bit_Com(0x80+0x00);
for(i=0;i<16;i++)
{
Write_Bit_Date(LCD_Display_Box1Password_i[i]);
delay(100);

LCD_Display_i[0]="";
LCD_Display_i[1]="";
LCD_Display_i[2]="";
LCD_Display_i[3]="";
LCD_Display_i[4]="";
LCD_Display_i[5]=0x30+temp_f;
LCD_Display_i[6]=0x30+temp_e;
LCD_Display_i[7]=0x30+temp_d;
LCD_Display_i[8]=0x30+temp_c;
LCD_Display_i[9]=0x30+temp_b;
LCD_Display_i[10]=0x30+temp_a;
LCD_Display_i[11]="";
LCD_Display_i[12]="";
LCD_Display_i[13]="";
LCD_Display_i[14]="";
LCD_Display_i[15]="";
Write_Bit_Com(0x80+0x40);
for(j=0;j<16;j++)



Write_Bit_Date(LCD_Display_i[j]);
delay(100);

}
void Display_Input_Box2() //box 2 password input i T & 5% A ST
{
uchar i,j;
Write_Bit_Com(0x80+0x00);
for(i=0;i<16;i++)
{
Write_Bit_Date(LCD_Display_Box2Password_i[i]);
delay(100);

LCD_Display_i[0]="";
LCD_Display_i[1]="";
LCD_Display_i[2]="";
LCD_Display_i[3]="";
LCD_Display_i[4]="";
LCD_Display_i[5]=0x30+temp_f;
LCD_Display_i[6]=0x30+temp_e;
LCD_Display_i[7]=0x30+temp_d;
LCD_Display_i[8]=0x30+temp_c;
LCD_Display_i[9]=0x30+temp_b;
LCD_Display_i[10]=0x30+temp_a;
LCD_Display_i[11]="";
LCD_Display_i[12]="";
LCD_Display_i[13]="";
LCD_Display_i[14]="";
LCD_Display_i[15]="";
Write_Bit_Com(0x80+0x40);
for(j=0;j<16;j++)

Write_Bit_Date(LCD_Display_i[j]);
delay(100);

}
void Display_Input_Box3() //box 3 password input

{
uchar i,j;
Write_Bit_Com(0x80+0x00);
for(i=0;i<16;i++)
{



Write_Bit_Date(LCD_Display_Box3Password_i[i]);
delay(100);

LCD_Display_i[0]="";
LCD_Display_i[1]="";
LCD_Display_i[2]="";
LCD_Display_i[3]="";
LCD_Display_i[4]="";
LCD_Display_i[5]=0x30+temp_f;
LCD_Display_i[6]=0x30+temp_e;
LCD_Display_i[7]=0x30+temp_d;
LCD_Display_i[8]=0x30+temp_c;
LCD_Display_i[9]=0x30+temp_b;
LCD_Display_i[10]=0x30+temp_a;
LCD_Display_i[11]="";
LCD_Display_i[12]="";
LCD_Display_i[13]="";
LCD_Display_i[14]="";
LCD_Display_i[15]="";
Write_Bit_Com(0x80+0x40);
for(j=0;j<16;j++)

{
Write_Bit_Date(LCD_Display_i[jl);
delay(100);
}
}
void Display_Input_Box4() //box 4 password input
{
uchar i,j;

Write_Bit_Com(0x80+0x00);
for(i=0;i<16;i++)
{
Write_Bit_Date(LCD_Display_Box4Password_i[i]);
delay(100);

LCD_Display_i[0]="";
LCD_Display_i[1]="";
LCD_Display_i[2]="";
LCD_Display_i[3]="";
LCD_Display_i[4]="";
LCD_Display_i[5]=0x30+temp_f;
LCD_Display_i[6]=0x30+temp_e;
LCD_Display_i[7]=0x30+temp_d;
LCD_Display_i[8]=0x30+temp_c;



LCD_Display_i[9]=0x30+temp_b;
LCD_Display_i[10]=0x30+temp_a;
LCD_Display_i[11]="";
LCD_Display_i[12]="";
LCD_Display_i[13]="";
LCD_Display_i[14]="";
LCD_Display_i[15]="";
Write_Bit_Com(0x80+0x40);
for(j=0;j<16;j++)

{
Write_Bit_Date(LCD_Display_i[j]);
delay(100);
}
}
void Display_GetPassw() JAREUERS Bn Fm
{
uchar i,j;

Write_Bit_Com(0x80+0x00);
for(i=0;i<16;i++)
{
Write_Bit_Date(LCD_Display_GetPassw_i[i]);
delay(100);

LCD_Display_i[0]="";
LCD_Display_i[1]="";
LCD_Display_i[2]="";
LCD_Display_i[3]="";
LCD_Display_i[4]="";
LCD_Display_i[5]=0x30+Show_P_f;
LCD_Display_i[6]=0x30+Show_P_e;
LCD_Display_i[7]=0x30+Show_P_d;
LCD_Display_i[8]=0x30+Show_P_c;
LCD_Display_i[9]=0x30+Show_P_b;
LCD_Display_i[10]=0x30+Show_P_a;
LCD_Display_i[11]="";
LCD_Display_i[12]="";
LCD_Display_i[13]="";
LCD_Display_i[14]="";
LCD_Display_i[15]="";
Write_Bit_Com(0x80+0x40);
for(j=0;j<16;j++)

Write_Bit_Date(LCD_Display_i[j]);
delay(100);



}

delay(60000);  //# 5% BoRsHt(E], LR 6ms*3
delay(60000);

delay(60000);

Interface=0; [HR B A T

void Display_BoxFull() /iR B
{
uchar i,j;
Write_Bit_Com(0x80+0x00);
for(i=0;i<16;i++)
{
Write_Bit_Date(LCD_Display_Full_i[i]);
delay(100);
}
Write_Bit_Com(0x80+0x40);
for(j=0;j<16;j++)
{
Write_Bit_Date(LCD_Display_Full_j[j]);
delay(100);
}
delay(60000);
delay(60000);
delay(60000);
Interface=0; /R B A S
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void Key_Scanf{() //temp_a IR R S, BRIAK 0, BEBAEA SR
{

a=1,b=1,c=1,d=0;

x=1,y=1,z=1;

if(z==0){delay(200);if(z==0){while(z==0);

{ if(Box1==0){Box1=1;Interface=1;Passw_Box1_a=Num%10;Passw_Box1_b=Num/10%1
0;delay(1);Passw_Box1_c=Num%10;delay(2);Passw_Box1_d=Num/100%10;delay(4);Passw_Box1_
e=Num%10;delay(6);Passw_Box1_f=Num/10%10;
Show_P_a=Passw_Box1_a;Show_P_b=Passw_Box1_b;Show_P_c=Passw_Box1_c;Show_P_d=Pass
w_Box1_d;Show_P_e=Passw_Box1_e;Show_P_f=Passw_Box1_f:} /137 Box1 2%, WIS H 4k ey
i € I AR BUE O %65, S IRBUE S 5 m

else
if(Box2==0){Box2=1;Interface=1;Passw_Box2_a=Num%10;Passw_Box2_b=Num/10%10;delay(3);P



assw_Box2_c=Num%10;delay(1);Passw_Box2_d=Num,/100%10;delay(2);Passw_Box2_e=Num%10
;delay(5);Passw_Box2_f=Num/10%10;
Show_P_a=Passw_Box2_a;Show_P_b=Passw_Box2_b;Show_P_c=Passw_Box2_c;Show_P_d=Pass
w_Box2_d;Show_P_e=Passw_Box2_e;Show_P_f=Passw_Box2_f:} /177 Box2 2%, W5 H 4k B
it

else
if(Box3==0){Box3=1;Interface=1;Passw_Box3_a=Num%10;Passw_Box3_b=Num/10%10;delay(7);P
assw_Box3_c=Num%10;delay(3);Passw_Box3_d=Num,/100%10;delay(5);Passw_Box3_e=Num%10
;delay(2);Passw_Box3_f=Num/10%10;
Show_P_a=Passw_Box3_a;Show_P_b=Passw_Box3_b;Show_P_c=Passw_Box3_c;Show_P_d=Pass
w_Box3_d;Show_P_e=Passw_Box3_e;Show_P_f=Passw_Box3_f;} //75 Box3 7%, W5# H 4k
£

else
if(Boxd4==0){Box4=1;Interface=1;Passw_Box4_a=Num%10;Passw_Box4_b=Num/10%10;delay(3);P
assw_Box4_c=Num%10;delay(2);Passw_Box4_d=Num/100%10;delay(4);Passw_Box4_e=Num?%10
;delay(5);Passw_Box4_f=Num/10%10;
Show_P_a=Passw_Box4_a;Show_P_b=Passw_Box4_b;Show_P_c=Passw_Box4_c;Show_P_d=Pass
w_Box4_d;Show_P_e=Passw_Box4_e;Show_P_f=Passw_Box4_f;} //#5 Box4 7%, WA H 4k
e

else {Interface=2;}}}} [/ W H Bl A R s

if(x==0){delay(200);if(x==0){while(x==0);{temp_f=temp_e;temp_e=temp_d;temp_d=temp_c
;temp_c=temp_b;temp_b=temp_a;temp_a=7;delay(10);}}}
if(y==0){delay(200);if(y==0){while(y==0);{temp_f=temp_e;temp_e=temp_d;temp_d=temp_c

;temp_c=temp_b;temp_b=temp_a;temp_a=3;delay(10);}}}

a=1,b=1,c=0,d=1;

x=1,y=1,z=1;
if(z==0){delay(100);if(z==0){while(z==0);
{

/1

if((Interface==3)&(Passw_Box1_a==temp_a)&(Passw_Box1_b==temp_b)&(Passw_Box1_c==temp
_c)&(Passw_Box1_d==temp_d)&(Passw_Box1_e==temp_e)&(Passw_Box1_f==temp_f)){Box1=0;l
nterface=0;}else
if(Interface==3){if((Passw_Box1_al=temp_a)|(Passw_Box1_b!=temp_b)|(Passw_Box1_c!=temp_c
)| (Passw_Box1_d!=temp_d)|(Passw_Box1_e!=temp_e)|(Passw_Box1_fl=temp_f)){Bee=1;delay(2
0000);delay(20000);Bee=0;delay(20000);delay(20000);Bee=1;delay(50000);delay(50000);Bee=0;l
nterface=0;}}  //FHWGIEMG, PN Bee FHWIE &

if((Interface==4)&(Passw_Box2_a==temp_a)&(Passw_Box2_b==temp_b)&(Passw_Box2_c==temp
_c)&(Passw_Box2_d==temp_d)&(Passw_Box2_e==temp_e)&(Passw_Box2_f==temp_f)){Box2=0;I
nterface=0;}else

if(Interface==3){if((Passw_Box1_al=temp_a)|(Passw_Box1_b!=temp_b)|(Passw_Box1_c!=temp_c



)| (Passw_Box1_d!=temp_d)|(Passw_Box1_e!=temp_e)|(Passw_Box1_fl=temp_f)){Bee=1;delay(2
0000);delay(20000);Bee=0;delay(20000);delay(20000);Bee=1;delay(50000);delay(50000);Bee=0;l
nterface=0;}}

if((Interface==5)&(Passw_Box3_a==temp_a)&(Passw_Box3_b==temp_b)&(Passw_Box3_c==temp
_c)&(Passw_Box3_d==temp_d)&(Passw_Box3_e==temp_e)&(Passw_Box3_f==temp_f)){Box3=0;I
nterface=0;}else
if(Interface==3){if((Passw_Box1_al=temp_a)|(Passw_Box1_b!=temp_b)|(Passw_Box1_cl=temp_c
)| (Passw_Box1_d!=temp_d)|(Passw_Box1_el=temp_e)|(Passw_Box1_f!=temp_f)){Bee=1;delay(2
0000);delay(20000);Bee=0;delay(20000);delay(20000);Bee=1;delay(50000);delay(50000);Bee=0;l
nterface=0:}}

if((Interface==6)&(Passw_Box4_a==temp_a)&(Passw_Box4_b==temp_b)&(Passw_Box4_c==temp
_c)&(Passw_Box4_d==temp_d)&(Passw_Box4_e==temp_e)&(Passw_Box4_f==temp_f)){Box4=0;I
nterface=0;}else
if(Interface==3){if((Passw_Box1_a!=temp_a)|(Passw_Box1_b!=temp_b)|(Passw_Box1_c!=temp_c
)| (Passw_Box1_d!=temp_d)|(Passw_Box1_el=temp_e)|(Passw_Box1_f!=temp_f)){Bee=1;delay(2
0000);delay(20000);Bee=0;delay(20000);delay(20000);Bee=1;delay(50000);delay(50000);Bee=0;l
nterface=0:}}

delay(10);}}}

if(x==0){delay(200);if(x==0){while(x==0);{temp_f=temp_e;temp_e=temp_d;temp_d=temp_c
;temp_c=temp_b;temp_b=temp_a;temp_a=8;delay(10);}}}

if(y==0){delay(200);if(y==0){while(y==0);{temp_f=temp_e;temp_e=temp_d;temp_d=temp_c
;temp_c=temp_b;temp_b=temp_a;temp_a=4;delay(10);}}}

a=1,b=0,c=1,d=1;

x=1,y=1,z=1;

if(x==0){delay(200);if(x==0){while(x==0);{temp_f=temp_e;temp_e=temp_d;temp_d=temp_c
;temp_c=temp_b;temp_b=temp_a;temp_a=9;delay(10);}}}

if(y==0){delay(200);if(y==0){while(y==0);{temp_f=temp_e;temp_e=temp_d;temp_d=temp_c
;temp_c=temp_b;temp_b=temp_a;temp_a=5;delay(10);}}}

if(z==0){delay(200);if(z==0){while(z==0);{temp_f=temp_e;temp_e=temp_d;temp_d=temp_c;
temp_c=temp_b;temp_b=temp_a;temp_a=1;delay(10);}}}

a=0,b=1,c=1,d=1;

x=1,y=1,z=1;

if(x==0){delay(200);if(x==0)}{while(x==0);{temp_f=temp_e;temp_e=temp_d;temp_d=temp_c
;temp_c=temp_b;temp_b=temp_a;temp_a=0;delay(10);}}}

if(y==0){delay(200);if(y==0){while(y==0);{temp_f=temp_e;temp_e=temp_d;temp_d=temp_c
;temp_c=temp_b;temp_b=temp_a;temp_a=6;delay(10);}}}

if(z==0){delay(200);if(z==0){while(z==0);{temp_f=temp_e;temp_e=temp_d;temp_d=temp_c;
temp_c=temp_b;temp_b=temp_a;temp_a=2;delay(10);}}}



if(Key_Box1==0){if(Box1==1){Interface=3;}}
if(Key_Box2==0){if(Box1==1){Interface=4;}}
if(Key_Box3==0){if(Box1==1){Interface=5;}}
if(Key_Box4==0){if(Box1==1){Interface=6;}}

if(Cus_In==1){delay(100);if(Cus_In==1)}{while(Cus_In==1);{Customer++;if(Customer==100)Cu
stomer=0;}}} JINBCH NG T AT, EA A S Customer+
if(Cus_Out==1){delay(100);if(Cus_Out==1){while(Cus_Out==1);{if(Customer>1)Customer--;}}}
JIANBCGE BT AT, SEANAZ L Customer-
if(Shock==1){Bee=1; delay(60000);}

else Bee=0;
}
g = I
I i d
void main()
{
Init_LCD(); //Init the lcd1602
Timer0_Init(); //nit the timer of s52
Box1=0; //make the box is empty
Box2=0; /1
Box3=0; //
Box4=0; /]
Bee=0; /]
Shock=0; //shock port is
Bee=1; //bee init,bee some time
delay(60000); I/
Bee=0; /]
while(1)
{
Key_Scanf();
/1
if(Interface==0)Display_Common(); //Common welcome interface
if(Interface==1)Display_GetPassw(); //When get a password  interface
if(Interface==2)Display_BoxFull(); //When box all of full interface
if(Interface==3)Display_Input_Box1(); //When user input password

if(Interface==4)Display_Input_Box2();
if(Interface==5)Display_Input_Box3();
if(Interface==6)Display_Input_Box4();



void tOtime(void) interrupt 1

{
TRO=0; /1
THO=(65535-100)/256; //write primitive value to timer
TLO=(65535-100)%256; /f
TRO=1;
Num++;
if(Num==65530)Num=123; //don't change the value



